Page Updated - Removed the last two bullets from the description for Part Number 030-1090 - There is No adapter that is

included with this Part - Not In Printed Catalogue

SPX ICE SCRATCHERS
SCRATCHERS A GLACE SPX

SPX ICE SCRATCHER
SCRATCHER A GLACE SPX

e Carbide Tip

e Flex Design

Part No.

Fits REV-XM, REV-XP, REV XP SUMMIT 030-1090
e Installs to the Upper Idler Wheel

e |ncludes Tunnel Mounts to secure ice scratchers

. ; . Part No.
when not in use double coiled for reversing 030-1091
Part No. Code Keyword
030-1016 B 17

e Spec: 0D: 10.6mm
e Qverall Length: 350mm (13.7inch)

¢ Sold in Pairs

Replacement Carbide Tips

SPX CARBIDE TIP ICE SCRATCHERS
SCRATCHERS A GLACE AVEC EMBOUTS EN CARBURE SPX

for reversing.

Code Keyword
B 17

Code Keyword
B 17

ICE SCRATCHER KIT
KIT DE SCRATCHERS A GLACE

ICE SCRATCHER HOLDER
PORTE-SCRATCHERS A GLACE

e (Carbide Tip

© Anti-Rotation

e PVC Coated

® 35cm

e Scratcher holder are sold separately Part Number 030-1030

Part No. Code Keyword
030-1095 B 17

Spec. : Spring Hook: OD:4mm, L: 83mm,

Bolt 5/16"-18 X 38mm, Flange Nut 5/16" X 2pcs.
Nylon Flange Nut 5/16" X 2pcs.

with R/ L Side and Same Thread.

Material: Steel

Part No. Code Keyword
030-1030 B 17

UNIVERSAL TUNNEL MOUNT
CLAW TYPE ICE SCRATCHER

SUPPORT UNIVERSEL DE MONTAGE SUR TUNNEL
POUR SCRATCHER A GLACE DE TYPE GRIFFE

CcOo00

Part No. Code Keyword
030-1060 B 17

GAMMAPOWERSPORTS.COM

ANTI SPIN ICE SCRATCHER KIT
KIT DE SCRATCHERS A GLACE ANTI-TOURBILLONNEMENT

Ice Scratcher with Holders Kit

Parts Include:

Ice Scratchers X 1/Pair

Spec : Wire 0d:12mm,
Overall:350mm, Hex Bolt:3/8"

With Pvc Coating, Carbide Tip,
Anti-Spin Tab

030-1030 Holder X 1/Pair
Spec: With Holder X 2/Pcs &
Hardware X 1/Set.

Part No. Code Keyword e
B 17

030-1099

TERMS &
INDEX

NEW

HELMETS,
PARTS &
GOGGLES

APPAREL

ACCESSORIES

ENGINE

CARB

CONTROLS

TRANS
MISSION
&DRIVE

TRACKS &
TRACTION

STEERING

PLOW&
WINCH

ELECTRICAL

BATTERIES

LIGHTING

WIND
SHIELDS

T00LS

TRAILER

OILFILTERS &
CHEMICALS

sNow2s 915 {“ﬁ



